Statement of Costs (summary assessment)

(CPR PD44 9.5)

In the High Court of Justice Planning Court		Court
Case Reference	CO/1968/2021	

Judge/Master

Case Title The Queen (oao Ashchurch Rural Parish Council) v Tewkesbury Borough Council

Defendant's

Statement of Costs for the hearing on N/A

(interim application/fast track trial)

£

£

210.00

90.00

0.00

0.00

472.50

157.50

0.00

0.00

Description of fee earners*

- (a) (name) (grade) (hourly rate claimed)
- (b) (name) (grade) (hourly rate claimed)
- (c) (name) (grade) (hourly rate claimed)
- (d) (name) (grade) (hourly rate claimed)

2.00

Cheryl Lester, Grade A, £105	
Daisy Freeman, Grade C, £75	

Attendances on Defendant

(a) (number)

(d) (number)

Personal attendances

(b	o) (number)	1.20	hours at £	75.00	£	
(c	c) (number)		hours at £		£	
(d	d) (number)		hours at £		£	
Letters out/e	emails					
(a	a) (number)	4.50	hours at £	105.00	£	
(t	b) (number)	2.10	hours at £	75.00	£	
(0	c) (number)		hours at £		£	

hours at £

hours at £ | 105.00

Telephone

(a) (number)	1.50	hours at £	105.00
(b) (number)	0.40	hours at £	75.00
(c) (number)		hours at £	
(d) (number)		hours at £	

£	157.50
£	30.00
£	0.00
£	0.00

Attendances on opponents (including negotiations):

Attendances on oppone	nts (including r	negotiations):			
Personal attendances					
(a) (number)		hours at £		£	0.00
(b) (number)		hours at £		£	0.00
(c) (number)		hours at £		£	0.00
(d) (number)		hours at £		£	0.00
Letters out/emails					
(a) (number)	0.20	hours at £	105.00	£	21.00
(b) (number)	0.10	hours at £	75.00	£	7.50
(c) (number)		hours at £		£	0.00
(d) (number)		hours at £		£	0.00
Telephone					
(a) (number)		hours at £		£	0.00
(b) (number)		hours at £		£	0.00
(c) (number)		hours at £		£	0.00
(d) (number)		hours at £		£	0.00
Attendance on others:					
Personal attendances		1 .			
(a) (number)		hours at £		£	0.00
(b) (number)	0.90	hours at £	75.00	£	67.50
(c) (number)		hours at £		£	0.00
(d) (number)		hours at £		£	0.00
Letters out/emails				_	
(a) (number)	0.70	hours at £	105.00	£	73.50
(b) (number)	1.00	hours at £	75.00	£	75.00
(c) (number)		hours at £		£	0.00
(d) (number)		hours at £		£	0.00
Telephone					
(a) (number)		hours at £		£	0.00
(b) (number)	0.20	hours at £	75.00	£	15.00
(c) (number)		hours at £		£	0.00
	1	1			ll l

hours at £

(d) (number)

0.00

£

Site inspections etc.

(a) (number)	hours at £	
(b) (number)	hours at £	
(c) (number)	hours at £	
(d) (number)	hours at £	

£	0.00
£	0.00
£	0.00
£	0.00

Work done on documents, as set out in schedule:

1,809.00

0.00

0.00

Attendance at hearing:

(d) (number)

(a) (number)	hours at £	
(b) (number)	hours at £	
(c) (number)	hours at £	
(d) (number)	hours at £	
(e) Fixed costs		
(a) (number)	hours travel and waiting time £	
(b) (number)	hours travel and waiting time £	
(c) (number)	hours travel and waiting time £	
(d) (number)	hours travel and	

L	0.00
£	0.00
£	0.00
£	
£	0.00
£	0.00
£	0.00
	·

£

Sub Total £

3,186.00

0.00

(A) Solicitors and Chartered Legal Executives with over eight years post qualifcation experience including at least eight years litigation experience.

waiting time £

- (B) Solicitors and Chartered Legal Executives with over four years post qualifcation experience including at least four years litigation experience.
- (C) Other solicitors and Chartered Legal Executives and fee earners of equivalent experience.
- (D) Trainee solicitors, paralegals and other fee earners.

"Chartered Legal Executive" means a Fellow of the Chartered Institute of Legal Executives (CILEx). Those who are not Fellows of CILEx are not entitled to call themselves Chartered Legal Executives and in principle are therefore not entitled to the same hourly rate as a Chartered Legal Executive.

Counsel's fees (name) (year of	call)	James Pereira	QC (1996) (QC 2	2014), Hora	tio Waller (2014	!)
Fee for [advice/	conference/	documents]			£	9,600.00
Fee for hearing					£	
Other expenses						
Court fees					£	
Others (give brief description)	N/A				£	
Total					£	12,786.00
Amount of VA						
	on solicitor	rs and counsel's	fees		£	2,555.70
	on other e	xpenses			£	
					Grand Total £	15,341.70
The costs stated above do no Defendant respect of the work which thi fees and other expenses have stated above and will be paid	s statement o e been incurr	is liable to pay covers. Counsel's ed in the amoun				
8) Theaple	2	Cinc. d	02.07.2021	Datad		
		Signed		Dated		
Sara Freckleton						
	Name of I	Partner signing				
One Legal, Tewkesbury Bo	orough Cour	ncil				

Name of frm of solicitors

Schedule of work done on documents

Item	Description of work (one line only)	(A) hours	(B) hours	(C) hours	(D) hours	Total £
1	Reviewing PAP letter	1.40	1.5			259.50
2	Drafting instructions to Counsel		.80			60.00
3	Reviewing claim bundle and documents	2	1			285.00
4	Considering background documents	3.80	2.40			579.00
5	Reviewing summary grounds of resistance	3.10	1.5			438.00
6	Preparing acknowledgement of service		1			75.00
7	Preparing statement of costs		1.5			112.50
8						
9						
10						
11						
12						
13						
14						
15						
16						
17						
18						
19						
20						
21						
22						
23						
24						
25						
26						
27						
28						
29						
30						
Total						1,809.00